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BANKING AND FINANCIAL MANAGEMENT

' First Paper (Financial Management)
I'ime allowed : Three hours Maximum Makes: 100
Part-A (Compulsory) (Marks:20)
Tt T/ W N e ¥ 1wl O S 20 Rl @ fers e € wfew) o
U 6 AFTAAE |
) Part-B(Compulsory) (Marks: 20)
Qoft 97 g9 HIFST 1 TE IR 50 vl W S1fyek T e =feq ) |olt Wl &

AFTAAEE

Part- C (Compulsory) (Marks: 60) : :
1 A T FAC | T 1 I 400 o) A avfran 7 g =nfeq 1 it 9l &
HFTTHE
Part - A (TF1-3)
1. () Whatis finance function ? faa % § Fn I T ?
(i) What are intangible assets? 3Td Tl 1€ ?
(iii) Name the methods of trend analysis.
farvarsor ot fafial sad |
(iv) Total Assets Rs. 1,10,000, Fixed Assets Rs. 50,000, Capital Em-
. ployed Rs. 90,000, there is no long-term investment. Calculate

current ratio.

%l T 1,10,000 ., T eafir 50,000 %, fafIT gsit 90,000
5., SrefelT fafer &1 & | =] ST T HIfSa |
(v) Name two methods of preparing Cash Budget. ~
e FoIe AR FT H Q fArerd A | L \
What is Gross Working Capital ? ¥ehel Sraiier st 1 22
(vii) What do you mean by receivables 9 At | 39 1 TAAQ € 2
(viii) Explain the meaning of lead time. eiten afer it 1o AR |
(ix) Define contribution. 3T¥ 1 g dfed
(x) What are bonus shares? 914 Al FNR?
Pm-B(m_a)srﬁ o7 3Tl Q 1 VA 8 2
What is meant by eaming per share? 9id 331 ikl 7
What is the cost of retained earning ? wfaenfa TeiAi i AP FE 2

What is cash flow statement? g o feawu FE?

What is meant by capital structure ? 3sf HI:’TI Em'amfaz!?fj j 7; "
P/V ratio of Divya Ltd. is 50 percent and margin o i
Thr?:ent. The firm sold 500 units amounting Rs. 5,00,000 You are to

calculate net profit. - -
O v w1 -7 ST 50 S 2, T e 40 e &,
¥ I SR € | SR E T &t

(vi)

R p W

w9 ¥ g 500 T 5,00,000 T.
oA AT € |
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Part - C (3F1-99) .
Discyss the tasks and responsibilities of a modem Finace Manager.

U MY fod weiver & sl wa qifal & faa= st |
| ‘ i

Following are the ratio relating to the trading activities of Shashank
Ltd:

Debtors velocity 3 months

Stock velocity . 8 months
Creditors velocity 2 months
Gross profit ratio 25 percent

Gross profit for the year ended 3 1st December, 2013 amount to Rs.
4,00,000. Closing stock of the year is Rs. 10,000 above the opening
- stock. B/R amount to Rs. 25.000 and B/P to Rs. 10,000.
' Calcualte:
@) Sales (ii) Sundry debtors
(iii) Closing stock  (iv) Sundry creditors.
wvireh ferfirde s fRarsi @ aratea sua Fefataa 3-

TAER ATEd 3R
Y ATad 8 AE
AR 3ad 2 A8
Thel oY 3T 25 gfeera

31 e, 2013 1 THIE TR AR T T HEHA T4 4,00,000 T 411 Y
=1 3o Ty YRS &Y @ 10,000 %. 3ifye 911 W faas 25,000
%. 991 37 497 10,000 & F 9| |
T ShifoTe- _
() fom (2) W QAR
“(3) Hfm = (4)  WHF TR
" The capital structure of Singhal Ltd. is as under : | e
2,000 6% debentures of Rs. 100 each (first iésqe) 2,00,000 ~
1,000 7% debentures of Rs. 100 each (second 1ssue) 1,00,000
2.000 8% cumulative preference shares of Rs. 100 each 2.,00,000
4.000 equity shares of Rs 100 each ;lgg%
tained earnings _ O,
gﬁe eaming pergshare of the company in the past many years has
been Rs. 15, the shares of the company aré sold in the nmr}wt albnok_
value. The Company’s tax rate is 50% and shareholder’s personal
liability is 10% _
Efld out m):e weighted average cost of capital.

ol T 39 TR B - |
foee fafaee aﬂfﬁ .
100 . YA F 2,000 6% T (994 i) 2,00,000
100 T, WS & 1,000 7% FA-TH ( fieltar o) 1,00,000
100 T. Weldh & 2,000 8% WAl AT 3T 2/00,000
100 T. TXSF & 4,000 FHAT H 4,00,000
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wfaaRa s=H

1,00,000

Td FE T4 ¥ FHOE F AR 79 o 15 T §, TR HEA 6 39
TS Hed WA= T § ) FAEt F 3w S 50 wiwrg & a0
Syl Ft safea e ) 10 Wi & 1 wRifea offwa o i

Following are the comparative Balance Sheets of R.K.S. Ltd. ason

Rouciceaicef
Or
31st March: |
Liabilities 31.3.2012
m..
Share capital 10,00,000
Debentures 5,00,000
General reserve 2,00,000
P& LA/ 1,10,000
Provision for Income Tax 40,000
Trade creditors 50,000
Provision for doubtful debts 20,000
B/P i 30,000
| 19,50,000
- Assets | - 31.3.2012
Rs.
Goodwill 50,000
Land and Building 4.20,000
Plant and machinery 6,00,000 -
Closing stock 2,50,000
Debtors 3,00,000
Cash 3083003
Preliminary éxpenses 30,
A 19.50,000

Additional information:

31.3.2013

" " During the year a part of machinery costing Rs. 7,500 (ac-
® cumulgated geprec:iation thereon being Rs. 2,500) was sold

Rs. 3,000.

(i) Divi dend of Rs. 1,00,000 was paid during the year ended

31.3.2013. |
(iii) Income tax of Rs. 50,000 was

v .
) Land and building Rs.

paid during ttcllt;}i(carf .
epreciatl for the year 2012-13 was provided as I0llOWS:
¢ 23 b a 10,000, plant and machinery Rs.

50,000

Your are required to prepare. _ .

(i) A schedule of changes in working capital.

(i1) Statement showing the sources and application gf‘fund as-
suming provision for taxation and proposed dividend as
non-current liability.
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T 31.3.2012
' 4.
e St 10,00,000
RI-9T 5,00,000
A 9499 200,000
o & T @ 1,10,000
T ¥ o smdem 40,000
=E AR 50,000
wfery i & fog s 20,000
T faw 30,000
19,50,000
wwtaan 31.3.2012
. Rs.
- 50,000
gft Td 9= 4.20,000
RS L R R 6,00,000
3iffaq &4 2,50,000
TRR 3.00,000
TH 3,00,000
fafau=a 30,000
o 19,50,000
sffafcs

RK.S. [li2s & 31 A4 ) quiIoTs faga rrtaraa &-

31.3.2013
T.
11,00,000
3,00,000
2,00,000
1,90,000
1.10,000
40,000
30,000
- 24000
19,94,000
31.3.2013
. RS,
40,000 ~
6,60,000
8,00,000
2,10,000
2,40,000
24,000
20,000
19,94,000

(1) aﬂfﬁ;‘eﬁqmq&aqﬂﬁmmz,swa (T T

- 2,500%.) 9t 3,000 % A 49
(2) 31T, 2013 W TG G A0S

marl

| (3) . & 50,000 & SAH TP TH
a9 2012-13 ¥ foaw g =1 TR = fopan -

w1ty T Wa 10,000 %, 47 T& 9T 50,000 %. |

T4 § 1,00,000 F. ST

maﬂmﬁmqﬁmﬁimﬁwﬂﬁzaﬂmﬁﬁqﬁ%@w

FC &

(1) mﬁﬂatﬁrﬂwﬁ'ﬂﬁa 1 arferat
(2) 9 ¥ TeFl ©& SuA & feeron
The following datarelate to a manufacturing company:

Sales 8,000 units @ Rs. 10 80,000
Variable expenses 64.000
Contribution 16,000
Fixed expenses 24.000
Loss 8,000

@) What sales are needed to break-down?
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(1) What sales are necessary to result in a net income of Rs.
9,000 the corporate income tax rate being 50%7
(iii) What should be the selling price per unit if the break-even
int should be brought down to 10,000 units?
(iv) at additional sales will be required to cover an 1ncrease
of Rs. 6,000 in fixed cost.

Frafafaa wis & Fmivh Feeh § gt €-

LA
Taska 8,000 THFEA X 10 & " - 80,000
yfadyie =4 ' 64,000

R bk " 16,000

e T 24,000
ACE 8.000

() aa-fade ¥ fnalt okl St sTavasrn @2 ‘
(ii) 9,000 . F Y& 11 Wit &g forait faskt =it syrarvaepat €,

7f Fer R it X 50 wiawm 1 2 .
Giiy — whv g fram fasra e @, Ak w-fasae femg 10,000
L (iv) o AT & 6,000 %. Y 3fg ¥ g et aifafies fosra =it
- ETEEA B 2 N T

What is meant by dividend policy? Examine the various factors
- determining the sound dividend policy of a business enterprise.
THTY S R ST 7 S € ? U SHadiiasd IuRA S g3e
Srurer A A g SR I i e RIE )

[ — - L] A TN WR. ¢ W . Y
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